Rapport Registrering Laserskanning Var

ﬂ Registration Diagnostics

Status: VALID Registration
Mesn Absolute Ervor
for Ensbled Constraints = 0 003 m

for Disabled Constraints = 0.094 a
Dats! 2021.05_08 17:44:20

Databacze nane - Flaam vaar
==

n¥orlds
Station-001 SE-001 (Lesslsd)
Station-002: SU-002 (Laveled)

Constraints

Constraint ID ScanVorld Scanborld Typa Status Weight Erzor Error Vector Horz
£ Station-001- S§=001 {(Leveled) Station-002: S¥-002 (Leveled) Coincident: Vertex = Vertex On 1. 0060 0,003 m §{ D:001 0 00%, 0,000y = 0 0OO3
a Ststion-001: SW-001 [Levelsd) Statien—002:! SV-002 (Leveled] Coincident Vertex — Vertex On 1.0000 0,005 m ( G.ODI, —0.004, -0, 002y m O.004
b Station-001: SE-001 (Laweled) Station-002: S¥-002 (Leveled) Coincident: Vertex - Vertsx. On 1.0000 O 004 wm (=0.004. 0000, O 000y w 0O 004
d Station-001: SV-001 (Leveled) GStation-002; S¥-002 (Leveled) Coiscident; Vertex - Vertex On 1.0000 0 001 wm | G000 0,000 0001 = 0,001
= Station-001: S§-001 (Levelsd) Station-002: SW-002 (Leveled) Coincdident WVertesx — Vertes On 1.0400 0,003 & ( D902 9.001 0,001) m ©.003
2 Station=001. S¥=001 (Laveled) Station=002 S§¥-002 (Leveled] Coincident. Vertesx = Vertex Off 1.0000 0,09 m (=0 053, =0.017, 0,07) m 0 056

ScanWorld Transforsations

Station-001: SU-001 (Lavelsd)

translation: (0.000, 0 .000. O 000} =
rotation. (0. 0000, 1 0000, O0.0000) 0. 000 deg

Station-002: SE=00Z (Leveled)
translation: {-19.290, 25 148, 5 8B2) m
rotation: (=0 0000, -0 0000, -1 O000): 143 243 deg

Unused ControlSpace Ohjects
Station-001; SP-001 (Leveled)
Vertex unlabeled

Station-002- SU-002 (Leweled)
Vertex unlabeled
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